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( Listening Comprehension Practice )

Section X

— = Directions \

In this section, you will hear 10 short conversations. At the end of each

conversation, a question will be asked about what was said. The conversa-
tions will be spoken twice, but the questions will be spoken only once. After
each question there will be a pause. During the pause, you must read the four
choices marked A, B, Cand D, and decide which is the best answer. Then
blacken the corresponding letter on the Answer Sheet with your pencil.
Example: '
You will hear:
You will read: A. On the next street
B. On the same street
C. On the right street
D. On the left street
In the conversation the man told the woman to “go along the street” and
she would see post office. Therefore the post office is on the same street, and
B is the correct answer. You should choose B and blacken the corresponding
Lleuer on the Answer Sheet with your pencil.

v

1. A.Sheis waiting for the man.  B. She is not ready to leave right now.
C. She is not going to drive to the town.
D. She doesn't like to give the man a ride.

« 2 .
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2. A.About 20 minutes. B. About 40 minutes.
C. About half an hour. D. About one hour.
3. A. He believes that Tom will not be able to sell his house.
B.He believes that Tom was joking.
C.He agrees with the woman.
D.He believes that Tom will quit his job.
4. A Because they are alike.
B.Becanse the man's briefcase has a lock.
C.Because the man’s briefcase is smaller.
D.Because she doesn’t have one.

5. A.The train is crowded. B. The train is late.
C.The train is empty. D.The train is on time.

6. A.Dancing. B.Sailing a boat.
C.Playing cards. D. Cutting wood.

7. A.He can’t find his door key. B.He has lost car key.
C.He has lost all his keys. D.He has lost his door key in his car.

8. A.In a food factory. B.In a railway station.
C.At a supermarket. D. At a post office.
9. A.He didn’t sleep at all. B.He slept restlessly.
C.He slept very well. D.He only slept a little.
10. A.Red car. B.A factory job.
C. A choice of cars. D.Aride.

— - Directions 1

In this section, you will hear 3 short passages. At the end of each pas-
sage, you will hear some questions. The passages will be spoken twice but
the questions will be spoken only once. After you hear a question, you must
choose the best answer from the four choices marked A, B, C and D. Then
\ mark the corresponding letter on the Answer Sheet with your pencil.

« 3
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M Passage 1
Questions 11 to 13 are based on the passage you have just heard.
1t. A.In July, 1946. B.In July, 1964.
C.In June, 1946. D.In June, 1964.
12. A.A traveler. B. A reporter.
C. A scientist. D. A novelist.

13. A.A huge flying cloud over the Atlantic.
B.A bomb explosion in America.
C.America’s first peacetime armed attack.
D. America’s first peacetime atomic energy test.

" Passage 2

Questions 14 to 17 are based on the passage you've just heard.

14. A.Bee stings can cure many diseases.
B. Bee stings may sometimes cause serious damage to the brain.
C.Some people are allergic to bee stings.
D.Bee stings have different effects on different people.
15. A.It is a mental disease.
B.It is a particularly crippling disease.
C.1t is a disease of hands.
D.It is a disease of legs.
16. A.That he was deformed at birth.
B.That he is in great need of nutrition.
C.That he is suffering from bone disease.
D.That he is suffering from arthritis.
17. A.He should try to have as much bee stings as possible.
B.He should keep some bees around his house.
C.He should keep away from places where he will prob-
ably meet bees.
D.He should take some medicine before going out.

v 4
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l Passage 3 —— =
lL Questions 18 to 20 are based on the passage you’ve just heard.

18. A.Preparation for making weather maps.
B. Difficulties in observing the atmospheric conditions.
C.Elements affecting weather forecasting.
D.Steps of weather forecasting.
19. A.In the upper atmosphere. B.Near the ground.
C.In the center of a disturbance.  D.On the weather map.
20. A.The observers take the reading seven or eight times a day.
B.The conditions of the weather forecasts need to be improved.
C.The accuracy of prediction is as high as seven times out of eight.
D.The forms of weather report are different from country to country.

N

S

ection &M

» Directions
(o ]

1. A.He needs a lot of money.
B.He needs both skis.
C.He needs her help very much.
D.He needs her comfort.
2. A.It's cooler. B.1t's cold.
C.1t's warmer. D.1It’s like home.
3. A.No, because she dropped her coffee cup.
B.No, because her cup is dropping.
C.Yes, she'd like another cup.
D.Yes, but just a little bit.
4. A.It’s too far to walk there.

- 5 -
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B.It'’s only five minutes to walk there.
C.The train is faster than the bus.
D.The bus is cheaper than the train.
5. A.swimming B. tennis
C.skiing D. watching TV
6. A.He wants to go downtown.
B.He doesn’t know where to park the car.
C.He wants to go to the park, but she doesn't.
D.He wants to find out the location of the park.
7. A._.There is no difference. B.She reads better.
C.He reads better. D. She understands better.
8. A.They will eat lunch at the dinner.
B.They will eat lunch in the park.
C. Neither wish to eat lunch.
D.They want to eat lunch at the dinner.

9. A.Secretary-Boss. B. Client-Lawyer.
C. Student-Teacher. D.Patient-Nurse.

10. A.In a science laboratory. B.In a cinema.
C.In a university. D.In a theatre.

Section ¥

» Directions
o

& Passage 1

Questions 11 to 13 are based on the passage you have just heard.

11. A.The people there were very poor.
B. There were few doctors and nurses there.
C.He wanted to be both a pilot and a doctor.

« § -
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D.Most people of East Africa live in the countryside.
12. A.He sent doctors and nurses to cure them.

B.He visited them in small hospitals.

C.He sent them to his own hospital.

D.He visited the sick people in an airplane.
13. A.Those who were seriously ill.

B.Those who needed operation.

C.Those who lived near there.

D.Those who had not been to Nairobi.

" Passage 2
ll Questions 14 to 17 are based on the passage you have just heard.

14. A.Writing an article in English.
B.Looking up English words in the dictionary.
C. Spelling English words correctly.
D.Getting a book small enough to carry around with him.

15. A.500,000 B.5,000,000
C.1,000,000 D. 150,000

16. A.Because it is not spelled logically.

B.Because it is not spelled grammatically.
C.Because it is not spelled phonetically.
D.Because it is not spelled linguistically .

17. A.A dictionary of the names of historical places.
B.A book containing all the words he spells wrong.
C.A dictionary of spelling.

D.A book with all important historical figures.

" Passage 3
“ Questions 18 to 20 are based on the passage you have just heard.

18. A.On Highway 18. B.On Highway 28.
L4 7 L]
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C.In the subway 18. D.In the subway 28.
19. A.66 B.46 C.37 D.36
20. A.About 11 p.m. B.About 11:30 p.m.
C.About 11 a.m. D.About 11:30 a.m.
O \3,

Section M

» Directions
o

1. A.She has some other arrangement.
B.She doesn’t like the man.
C.She’s busy with her work.
D.She has to take care of her father.
2. A.They are too expensive.
B.They are very rewarding.
C.They are {00 easy.
D.They are given by a strict teacher.
3. A.Lending something to a student.
B. Asking for some financial aid.
C.Reading a student’s application.
. D.Borrowing money for a business.
4. A.The room is on fire.
B.There is very little breeze.
C.The men are bothered by the smoke.
D.The men are not permitted in the room.
5. A.That she would correct the exams.
B.That her teaching assistant would correct the exams.
C.That she would collect the exams.
D.That she would not give her students a final exam.

« 8 -
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. A.Monday, Friday and Saturday.

B. Saturday and Sundy.
C.Monday, Wednesday, and Friday.
D.Tuesday, Thursday, and Sunday.

A. A teacher. B.A farmer.
C. A doctor. D. A worker.
. A.The woman had lost all her keys.

B. The door needed repairing.
C.The woman wasn’t able to open the door.
D.She wanted the man to help her.

9. A.At a library. B.At a doctor’s.
C. At a store. D. At a bank.
10. A.Spanish. B.English.
C.Japanese. D.Chinese.
Section
& Passage 1
Questions 11 to 13 are based on the passage you have just heard.
11. A.Ships and planes. B.Trains and ships.
C.Money. D.Jewellery.
12. A.Where the Bermuda Triangle is.
B.That the Bermuda Triangle is a mysterious place.
C.That Bermuda triangle is a dangerous place.
D. The cause of the disappearance and the boundaries of the area.
13. A.In the Pacific Ocean. B.Close to Europe.
C.In the Indian Ocean. D.In the Atlantic Ocean.
& Passage 2

|

Questions 14 to 16 are based on the passage you have just heard.
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14. A.He got good marks. B.He passed his examinations.
C.He failed his examinations. D.He didn’t take his examinations .
15. A.To his brother. B.To his sister.
C.To his mother. D.To his father.

16. A.He's going to visit his brother.
B.He's going to be punished.
C.He's going to study.

D.He's going to send a telegram.

M Passage 3
" Questions 17 to 20 are based on the passage you have just heard.
17. A.In the moming. B. At midday.
C.In the afternoon. D. At night.
18. A.Cease moving. B. Close their eyes.
C.Fly in circle. D.Hide in dark places.
19. A.A candle. B.The moon.
C.The sun. D. A flashlight.

20. A.They probably fly about freely.
B. They most likely fly to other moths.
C.They most likely look for shelter.
D. They probably tum in circles.

o \4, el
» Directions
[('l%)

1. A.He’s waiting for his rain coat.
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B.He’s soaking his clothes.

C.He wants to close the window.

D.He was caught in the rain.

. A.He did very well in the race.

B. Robert fell during the race.

C.Robert was one of the slower runners.

D. Robert finished directly behind the quickest runner.

. A.In a restaurant.

B.In an airplane.

C. At a political convention.

D. At a movie theatre.

. A_She thinks there is too much noise.

B. She likes to talk with powerful people.
C.She wasn't pay any attention to the man.
D.She’s amazed that the man didn’t hear her.
. A.In a bookstore. B.In a library.
C.In a classroom. D.In a hotel.
. A.She bought a pen last week.

B. She has no pen at present.

C. Her pen has run out of ink.

D. The paper must be signed with a pen.

. A.Go to the games by bus.

B.Have the woman’s car repaired.

C. Ask Jane for a ride.

D.Buy a new car.

. A.He doesn't live in the dormitory any more.
B.He’s busy moving into a new room.

C.He came back to school this semester.
D.He can’t talk about it right now.

. A. Exercising just after getting up.

B. Eating something good for breakfast.

C. Buying the next Larger size.

.]1.




